Equal 9 step grey scaling betweeb* , and L*y, for three reflections of ambient light

L* BEG: L*N=4.0,L*U=50.0,L*W=96.0,YN=0.4,YU=18.4,YW=90.0,CY=YW:YN=203.2
1004 NO. L*0a L*Or YOa YOr ;L*a Alta L*tr Yta Ytr (Ytr) 1/2,04(ytr) 1/2,04- *Qy
()9 960 10 90 10} 9.0 1.0 900 1.0
; 11.4
8 845 0875 650 0.721 845 087 651 0.721
; 11.4
[Ey 7 730 075 451 0499 73.1 0.74 453 0.499
j 11.3
6 615 0625 298 0328 617 0.611 30.1 0.328
j 11.3
50+ @5 500 05 184 02 504 0.482 187 0.2
j 11.2
@: 385 0375 103 011 391 0.354 10.7 0.1
j 11.0
3 270 025 50 0051 281 0229 55  0.051
25+ . :
; 10.5
@:2 155 0125 20 0.017 176 0109 24  0.017
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